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/ ' |
1. (A) Explain advantages and limitations of unifo 7
OR |
Explain “Behaviourwise classificatio

(B)  Write short notes m"lnw any two) 4
(1)  Historical costs
(2)  Elem
() €
4)

ined costs
proper cost units of the following industries. | 3

Paper mill
(3)  Textile
4 Chemical
(5) Bricks manufacturing

(6) Railway
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2. (A) Gaurang Ltd. Manufactures a product and the following particulars are
collected for the year ended on 31 March, 2014. . 7

Monthly demand 750 units
Cost of placing an order < 300

Annual carrying cost per unit < 15 '
Minimum usage 200 units per week |
Normal usage 300 units per week (

Re-order period 2 to 6 weeks
Calculate :

(1) Economic order quantity
(2) Number of orders to be placed in a ‘
(3) Re-order level

(4) Maximum level

(5) Minimum level

(6) Safety stock level 9

(7) Average stock | (o asis of economic order quantity)

Explain the objectiv

aterial control.

(B)

mary of receipts and issues of material ‘J’ in a factory

800 units at T 6 per unit - \
000 units at ¥ 8 per unit
600 units at T 7 per unit

8-3-2013 600 units

15-3-2013 800 units

25-3-2013 500 units

Prepare Stock Register as per FIFO method.
- OR

Write short note on “Weighted Average Method” of the pricing to the issue of
material for production.
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(C) . The following data were obtained from the stores dept. for the year 2013-14. 3

Calculate :
(1)  Closing Stock | e | .
(2) Consumption of materials | ‘
(3) Material Turnover Rate |
Particulars 4 .
 Opening Stock 80,000 S
Purchases 2,00,000 .
Average Stock 90,000 .
OR
/ Write short note on “Bin card.” o |

3. (A) From the following information of Shi &

on the basis of :

labour turnover rate
| 7

(1) Separation method =
(2) Replaceme:*eﬂl
(3) Flux method
Num the beginning of the year 500

b orkers at the end of the year 700

f workers resigned during the year 40

er of workers retired during the year 80

umber of workers newly appointed during the year 120

(Of which 30 workers were taken under expansion plan)

S - -OR
Write short notes on any one :

(1) Principles of determining wage rate

2)  ldle Time

N35-103 11 P.1.0.



(B)

(€)

From the following information of Meet Ltd., find out net wages payable in
cash for March. 2014. 4

(1) Salary per month ;. 24 ,{)*
(2) Dearness allowance 120% of salary 3
(3) Overtime allowance

(4) Total amount deposited to provident fund
(5) Total amount deposited to E.S.L.S.

(6) House rent recovered from 8 employees at th of

% 500 per month

employee’s
share into the

Employer’s contribution to provident fund is at
contribution while ratio of employer’s
contribution to cmpluy&es State Insurance S

Write short note on “Profit Sharing”

g n and Rowan Premium Plan. 3

e Wage System”.

Calculate total earnings under
Time saved 25% of time
Time taken 15 hours

Rate per hour
Write s

. has three production departments A, B and C and two service
for the month of March, 2014, department expenses are as under : 14 L

3

1400

600

Stores overheads expenses 600
Staff Welfare Expenses 1050
Depreciation | 27,500

| Repairs & Maintenance 5500
Indirect Wages | 1500
General Overheads 3000
Rent and Rates 2100

N35-103
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Other Information :

Particulars Production Departments plp
Departments
A B C D E

Direct material (%) 5000| 8000| 7,000| 2,000| 2,000

Direct Wages () | 6,000 9,000 | 10,000 | 3,000

Number of Employees 200 150 100 2

Horse power of machine 30 20 10 5
4 Light points 25 151 1€ 4

Value of Assets () 2.00,000 | 1,50,000 | 1.6 ! )0 | 50,000

Area occupied (sq. yds.) 300 Q 1 50 50

o to direct wages and
yroduction departments.

Apportion the expenses of service departmen :

those of department “D” in the ratio of

Compute the departmental over each of the production departments

assuming that overheads ar¢ recov ercentage of direct wages.

Calculate the mac e in respect of machine ‘Z’ from the following |

information :

(1) ine Z 95,000

1ce
alue of the machine ¥ 10,000
n charges ¥ 5,000
Useful life of ﬁle machine 10 years
‘Rent and rates of the factory (per month) T 1500

Four other similar machines are arranged in the total space of the factory.

(3)  Insurance premium of machine Z — 4% (half yearly)

(4)  Power consumption of machine Z — T 36,000 (per annum)

N35-103 13 PTO.



&)

(6)

(7)
(8)

)

(10)
()

5.  Select appropriate alternative (Show n

(1)

N35-103

Operating costing
atch costing
Contract costing

Electricity for the factory ¥ 900 (per three months)
Machine Z is using 8 light points out of total 18 light points in the factnry
Wages of workers (per worker — per month) % 1,000

There are five workers in the factory who look after all the machines
Labour welfare expenses (per worker — per month) ¥ 200

Supervisor’s salary (per two months) ¥ 8,000, Supervisor s
in supervision of all the machines.
Hire purchase instalment of machine Z (including int 1,000 per

month.

reason) (any Seven) 14
Which one of the following is

(a) Office Renl‘

(b) Canteen Expcn\ |
(c)

(d) PIm@

W ting method is used in pharma-medicine industry ?

‘Which of the following documents is used for issuing materials to the production
departments 7

(a) Purchase Requisition Note
(b) Goods Received Note

(c) Materials Requisition Note
(d) None of the above

14



(4) Opening stock I 60,000, purchase ¥ 4,40,000, closing stock ¥ 100000 Stock
turnover rate would be ?

(a) 4 times ' @

(b) 5 times ‘ | '
(c) 3.5 times

(d) 6 times

4

(5) Which wage system is proper where speed of the work d machine not
| on the man ?

(a) Piece wages system
(b) Halsey wages system
(c) Rowan wages system
(d) Time wages system

(6) Standard time fixed for a jobis 12 h
actual time taken to complete the job
according to piece wage sys%

id ¥ 25 per hour. The
wages payable to worker

(a) T120
(b) 300
(c) | 250
(d TS50
The f.'nl :

(7) tion is given for a factory of the overheads costs and

Over heads cost 9]
90,000
1,00,000
80,000
18,000 86,000
What will be the fixed cost element included in the above data ?
(a) T 50000 |
(b) T 40000
(c) T 80000

(d) None of the above
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(8) In which method goods remain in the stock of last purchase ? ’

(a) LIFO method

. ~(b) FIFO method ' ‘ | \
(c) Weighted Average Method -
(d) Fixed Price Method

(9) When the factory nvérheads charged to cost is less than
expenses debited in financial accounts it is called

(a) Over-recovery of overheads
~ (b) Under-recovery of overheads
(c) Transferred to costing P & L a/c as an ab
(d) None of the above

4

\
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